
dk;kZy; izkpk;Z dk;kZy; izkpk;Z dk;kZy; izkpk;Z dk;kZy; izkpk;Z ’’’’kkldh; dyk ,oa okf.kT; egkfo|ky; e>kSyh ftyk lh/kh ¼ekkldh; dyk ,oa okf.kT; egkfo|ky; e>kSyh ftyk lh/kh ¼ekkldh; dyk ,oa okf.kT; egkfo|ky; e>kSyh ftyk lh/kh ¼ekkldh; dyk ,oa okf.kT; egkfo|ky; e>kSyh ftyk lh/kh ¼e----iziziziz----½½½½    
    

egkfo|ky; esa dk;Zjr vfrfFk fo}kuksa dh lwphegkfo|ky; esa dk;Zjr vfrfFk fo}kuksa dh lwphegkfo|ky; esa dk;Zjr vfrfFk fo}kuksa dh lwphegkfo|ky; esa dk;Zjr vfrfFk fo}kuksa dh lwph    
l= l= l= l= 2022&232022&232022&232022&23    

dzekaddzekaddzekaddzekad    uke vfrfFk fo}kuuke vfrfFk fo}kuuke vfrfFk fo}kuuke vfrfFk fo}ku    fo"k;fo"k;fo"k;fo"k;    
1111    Jh jktfd’kksj frokjhJh jktfd’kksj frokjhJh jktfd’kksj frokjhJh jktfd’kksj frokjh    vaxzsthvaxzsthvaxzsthvaxzsth    
2222    MkW lqjs’k dqekj frokjhMkW lqjs’k dqekj frokjhMkW lqjs’k dqekj frokjhMkW lqjs’k dqekj frokjh    ouLifr’kkL=ouLifr’kkL=ouLifr’kkL=ouLifr’kkL=    
3333    MkW oghnqu fu’kkMkW oghnqu fu’kkMkW oghnqu fu’kkMkW oghnqu fu’kk    izk.kh’kkL=izk.kh’kkL=izk.kh’kkL=izk.kh’kkL=    
4444    Jh foisUnz dqekj f}osnhJh foisUnz dqekj f}osnhJh foisUnz dqekj f}osnhJh foisUnz dqekj f}osnh    vfrfFk fo}ku xf.krvfrfFk fo}ku xf.krvfrfFk fo}ku xf.krvfrfFk fo}ku xf.kr    
5555    MkW jketl pkS/kjhMkW jketl pkS/kjhMkW jketl pkS/kjhMkW jketl pkS/kjh    okf.kT;okf.kT;okf.kT;okf.kT;    
6666    MkW lanhi dqekj ’kekZMkW lanhi dqekj ’kekZMkW lanhi dqekj ’kekZMkW lanhi dqekj ’kekZ    HkkSfrd’kkL=HkkSfrd’kkL=HkkSfrd’kkL=HkkSfrd’kkL=    
                
    
                                                                                                                                                                                                                        
    


